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14 — Implicit Differentiation Aurhon 3

1. The graph of the equation 23 + 3 = 6xy is below.
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(a) Is this the graph of a function of x? Explain.
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graph.

(c) Use implicit differentiation to find a formula for j—g. (The formula will contain z’s and y’s.)

(d) Find an equation for the tangent line to the curve at the point (3, 3).



2. The graph of the equation y? = 2% — z*.

Y

K
(b) Ilustrate on the graph everywhere that the tan-

-1 gent line is horizontal.

(a) Is this the graph of y = v/22 — 24?7 Explain.

(c) Use implicit differentiation to find a formula for 2. (The formula will contain z’s and y’s.)

(d) Find all points where the tangent line to the curve is horizontal.



